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1. A shopkeeper sells two T.V. sets at the same

rate. On one he gains 30% and on the other

he loses 30%. Which of the following is true.

30% 30%

(A) / no loss no gain

(B) 9% /9% loss

(C) 4% /4% gain

(D) 4% /4% loss

2. A man sold two flats at the rate of  574634

each. On one he gained 12% and on the other

he lost 12%. His gain or loss percent in the

whole transaction was.

(A) 1.44% gain (B) 1.44% gain

(C) 1.44% loss (D) 2.56% loss

3. Abhi bought two articles for ̀  624. He sold one

at a loss of 14% and the oter at a profit of 14%.

If the selling price of both the articles is equal,

then the difference between their cost prices

(in `) is:

`

`

(A) 89.64 (B) 87.36

(C) 89.68 (D) 88.84

4. A person sold two articles at Rs.2530 each. On

the 1st article, he get 37.5% profit, but he sold

the 2nd article in such a way that overall he

would get no profit nor loss.find the difference

between the CP of both the articles?

` 2530 

37.5% 

(A) ̀  1320 (B) ̀  1632

(C) ̀  1380 (D) ̀  1460

5. A man bought 2 articles for ` 4158 each. He

sold one article at 15% loss. Then at what per-

cent profit the other article should be sold so

that no profit/loss percentage is earned.

` 4158

15%

(A) 15% (B) 10%

(C) 12% (D) 18%

6. A villager buys a goat and a sheep together for

` 14,250. He sold the sheep at a profit of 10%

and the goat at a loss of 20%. If he sold both

the animals at the same price , then what was

the cost price of the cheaper animal?

` 14,250

10% 20%

SSC (T-II) 2017 | 19 Feb.

(A) 8250 (B) 6600

(C) 7500 (D) 6000

7. A shopkeeper sold an articles for ̀  10591 each.
On one he gained 19% and on the other he
lost 11%. What was his overall gain or loss per-
centage (correct to one decimal place)?

` 10591 

19% 11% 

                    [SSC CGL Pre 2020]

(A) Profit/ 1.8% (B) Profit/ 5%

(C) Loss / 10% (D) Loss/ 2.7%

8. Two wrist watches were sold for ` 1,980 each.
One wrist watch was sold at a profit of 10%
and the other one at a loss of 10%. The entire
transaction resulted in :

` 1,980 

10%  10% 

Profit & Loss
(Type-5)
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[SSC CHSL 2020]

(A) a loss of 40/ 40 

(B) no gain no loss/ 

(C) a gain of ` 99/` 99 

(D) a loss of ̀ 99/ ̀  99 

9. Two toys are sold at ̀  504 each. One toy brings
the dealer a gain of 12% and the other a loss
of 4% by selling both the toys his profit/ loss
percent is :

` 504 

12% 4%

(A) 
5

3 %
13

 profit (B) 
5

4 %
13

profit

(C) 
1

5 %
13

profit (D) 
3

2 %
13

 profit

10. Two articles are sold at the same price. 1st was

sold at the profit of 37.5% and 2nd was sold at a

loss of 8.33%. if there is total profit of `
8634.then find their selling price (individual)?

37.5% 

8.33% 

` 8634 

(A) ̀  43170 (B) ̀  86340

(C) ̀  47487 (D) ̀  34536

11. Two articles are sold for ̀  9,720 each. On one,

the seller gains 8% and on the other, he loses

10%. What is his overall gain or loss ?

` 9,720 

8% 

10%

SSC MAINS, 2018

(A) ` 380 gain/ (B) ̀  380 loss/ 

(C) ̀  360 loss/ (D) ` 360 gain/ 

12. Three articles were sold at 18.18% loss, 20%

profit and 14.28% profit respectively. Selling

price is same for all the three articles and he

made an overall profit of ` 650 . then find the

total CP of all three articles together ?

18.18% 20% 14.28%

` 650 

(A) ̀  27635 (B) ̀  27430

(C) ̀  21100 (D) ̀  31650

13. A man bought 2 articles for ` 3050 each. He

sold one article at 10% loss and another at 20%

profit. The total profit/ loss percentage he

earned is : 5 July 2018 Shift 1

2 `

3050 10% 20% 

(A) 5% loss/ (B) 10% profit/

(C) 5% profit/ (D) 10% loss/

14. Cost price of two motorcycles is same. One is

sold at a profit 15% and the other for Rs. 4800

more than first. If the net profit is 20%. Find

the cost price of each motorcycle?

15% 

` 4800 

20% 

(A) ̀ 48000 (B) ̀ 52000

(C) ̀ 36000 (D) ̀ 42500

15. Amit brought two cars. He then sold the 1st  car

at 10% profit and 2nd one at 25% profit. The

selling price of the 2nd car is 25% more than

the SP of the 1st car. What is the approx. Profit

% in both the cars together ?

10%

25% 

25% 

% 

(A) 17.85% (B) 18.36%

(C) 16.19% (D) C.N.D.

16. Rakesh finds (gets) his profit percentage on

selling price and Ramesh finds his profit per-

centage on cost price. If the difference be-

tween their profits is  150 and the selling

price of both is same, find the selling price of

each where Rakesh gets a profit of 25% and

Ramesh earn a profit of 20%.

(A) ̀  1800 (B) ̀  1600

(C) ̀  1900 (D) ̀  1700
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17. One shopkeeper calculates his profit at C.P.

and second at S.P. both gains profit of 20%. If

S.P. of both is same and difference of both the

profit is Rs. 35 then find the S.P. ?

20%

` 35

(A) ̀  1050 (B) ̀  2000

(C) ̀  1100 (D) ̀  1350

18. A shopkeeper calculates % profit on the buying

price and another on the selling price. What

will be their difference in profits if both claim a

profit of 20% on goods sold for ̀ 3000?

% 

` 3000 

20% 

(A) ̀  200 (B) ̀  100

(C) ̀  400 (D) ̀  150

19. Anil bought two articles A and B at a total cost of `
10,000. He sold the article A at 15% profit and the
article B at 10% loss. In the whole deal, he made no
profit or no loss. Find the selling price of the article
A.

` 10,000 A B 

A 15% B 10% 

A

(A) ̀  5,400 (B) ` 4,500

(C) ` 4,600 (D) ` 4,200

20. The ratio of the quantities of sugar, in which
sugar costing ` 20 per kg and ` 15 per kg,

should be mixed so that there will be neither
loss nor gain on selling the mixed sugar at
the rate of ` 18 per kg, is :

` 20

` 15 

` 18 

(A)  2 : 1 (B) 1 : 2

(C) 4 : 1 (D) 3 : 2

21. In what ratio must a grocer mix tea at ` 60 a
kg and ` 65 a kg, so that by selling the mix-
ture at ` 68.20 a kg, he may gain 10%?

` 60 ` 65 

` 68.20 

10%

(A) 3 : 2 (B) 3 : 4

(C) 3 : 5 (D) 4 : 5

22. How many kg of salt costing ` 28 per kg must

be mixed with 39.6 kg of salt costing ` 16 per

kg. So that selling the mixture at ̀  29.90, there

is a gain is 15% ?

` 16 39.6 ` 28 

`

29.90 15%

SSC CGL (T-II) 2018

(A) 198 (B) 191

(C) 195 (D) 192

23. A man buys two tables at a total cost of  480.
If the loss on first table is 15% and the profit
on second table is 19% and the S.P. of both

tables are equal. Find the C.P.

(A) ̀  280,` 200 (B) ̀  220, ̀  260
(C) ` 240, ̀  240 (D) ̀  210 , ̀  270

24. Sushma bought 6 tables and 12 chairs for
`12000. She sold the tables at a profit of 15%
and the chairs at a loss of 10%. If her total
gain was ̀  300, then the total cost of the tables

was:

`12000 6 12

15% 10% 

` 300

SSC CGL (T-I) 2018

(A) ̀ 6000 (B) ̀ 5000
(C) ̀ 5400 (D) ̀ 4800

25. A man buys a table and a chair for Rs.500.He
sells the table at a loss of 10% and the chair
at a gain of 10%. He still gains Rs. 10 on the
whole. The cost price of chair in rupees is

` 500 

10% 10% 

` 10 

(A) ̀  200 (B) ̀  250
(C) ̀  300 (D) ̀  350

26. A man bought 5 horses and 7 cow's of  5,850.
If he gains 10% profit on horses selling and

16% profit after selling the cows. If he gains 
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702, then find the cost price of each horse.

(A) ̀  720 (B) ̀  780

(C) ̀  700 (D) ̀  730

27. A shopkeeper buys 4 horse and 8 cow in

`10,000 he sells each house at 15% profit and

sells each cow at 10% loss if in whole transac-

tion he gets ` 500 as profit. Then find the dif-

ference between 1 house and 1 cow.

`

` 

(A) ̀  1500 (B) ̀  1800

(C) ̀  1300 (D) ̀  1000

28. A man has 1680 pens and he categorized all

the pens into three types such that he earns

a profit of 22%, 26% and 30% respectively on

each type. He earns 23% profit on first two

types and earns overall profit of 25% on all

types. Find the number of pens in first types.

(A) 900 (B) 400

(C) 450 (D) 200

29. Selling price of three articles are same, first

sold @ 20% profit and second is sold @ 10%

loss and third is sold @ 25% loss if in whole

transtion he gets ̀  60 loss find the c.p. of each

article which was sold @20% profit.

` 60 

(A) 180 (B) 300

(C) 240 (D) 288

30. A man purchased 5 cows and 13 buffaloes for

` 51000. He sold cows at 15% profit and buffa-

loes at 10% loss. In this way he earned a profit

of ̀  1150. What is the CP of 2 cows and 3 buffa-

loes?

5 13 ` 51000 

15% 10% 

` 1150  2  3 

(A) ̀  13000 (B) ̀  15000

(C) ̀ 16000 (D) ̀  17000

31. A man sold a book at 9% profit and a pen at

13% P. If the sold the book at 13% profit and

the pen at 9% profit, he gain ` 80 more. Find

the cost price of book and pen if he purchase

both at ̀  20,000.

9% 13% 

13% 9% `

80 

20,000 

(A) ̀  11000, ̀  9000 (B) ̀  10000, ̀  8000

(C) ̀  9000, ̀  6000 (D) ̀  12000, ̀  11000
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Solutions
1. (B) % Loss = 

30 ²

100
 = 9%

2. (C) % Loss = 
12 ²

100
 = 1.44%

3. (B) Let CP of first article = ` x

and CP of second article = ` y

 
86x 114y

100 100


x 57

y 43

So, Diff. in CP = 
57 43

100
 × 624 = ` 87.36

4. (C) ATQ,

Total SP = 2 × 2530 = ` 5060

CP of first article = 2530 × 
8

11
 = ` 1840

CP of second article = 5060 – 1840 = ` 3220

So, required difference of CP

= 3220 – 1840 = ̀  1380

5. (A) ATQ,

0% = 
%P 15

2

 % P = 15%

6. (D) Let CP of sheep = ` x

and CP of Goat =` y

ATQ,

110

100
x = 

80

100
y

 
x 8

y 11

So, CP of cheaper animal = 
8

19
 × 14250

= ̀  6000

7. (A) C.P
1 
= 100              S

.
P

1
 = 110

C.P
1
 = 

1980

110
 × 100 = 18 × 100 = 1800

C.P
2
 = 100 S.P

2
 = 90

C.P
2
 = 

1980

90
× 100 = 2200

Total C.P. = 2200 + 1800 = 4000
Total S.P. = 1980 × 2 = 3960
Loss = 4000 – 3960 = 40

Loss% = 
40

4000
 × 100 = 1%

8. (A) C.P
1 
= 100 S.P.

1
 = 119

C.P
1
 = 

10591

119
 × 100 = 89 × 100 = 8900

C.P
2
 = 100 S.P

2
 = 89

C.P
2
 = 

10591

89
× 100 = 2200

C.P
2
 = 119 × 100 = 11900

Total C.P. = 11900 + 8900 = 20800
Total S.P. = 10591 × 2 = 21182
Profit = 21182 – 20800 = 382

Profit % = 
382

20800
 × 100 = 1.8%

9. (A) ATQ,

CP of first toy = 
504

112
 × 100 = ` 450

CP of second toy = 
504

96
 × 100 = ̀  525

Required % profit = 
33

975
 × 100 = 3

5

13
%

10.(C) ATQ,

37.5% = 
3

8
, 8.33% = 

1

12

Let SP for each article = ` 11x

CP for first article = ` 8x

CP for second article = ` 12x

So, total profit

= 2 × 11x – 8x – 12x = 2x = 8634

 x = 4317

So, required SP = 4317 × 11 = ` 47487

11.(C) ATQ,

Profit on article - 1 = 9720 × 
8

108
= ` 720

loss on article - 2 = 9720 × 
10

90
 = ` 1080

So, total loss = 1080 – 720 = ` 360
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12.(B) ATQ,

18.18% = 
2

11
 , 20% = 

1

5
, 14.28% =

1

7

Let SP of each article = LCM (9,6,8)= ` 72x

CP for first article = ` 88x

Second article = ` 60x

Third article = ` 63x

So, Profit = 3 × 72x – (88x + 60x + 63x)

= 5x = 650

 x = 130

Total CP = 211 × 130 = ̀  27430

13.(C) Total % profit = 
20 10

2
 = 5%

14.(A) By alligation

Article 1 Article 2

15% x%

20%

1 : 1

 x = 20 × 2 – 15 × 1 = 25%

ATQ,

125%– 115% = 4800

So, CP of each article = 
4800

10
 × 100

= ̀  48000

15.(A) Let CP of first car = ` x

and CP of second car = ̀  y

ATQ,

x × 
11 5

10 4
 = y × 

5

4

 
x 10

y 11

So, Let CP of first car = ` 10x

and CP of second car = ` 11x

SP of first car = 11x

SP of second car = 13.75 x

So, total % profit = 
3.75x

21x
 × 100 = 17.85%

16.(A) ATQ,

Let SP for each article = ` P

 P × 
25 P 20

100 120
 = 150

 
3P 2P

12
 = 150

P = ̀  1800

17.(A) Let SP for each shopkeeper = ` 100

Profit for 1st = 
100

120
 × 20 = 

50

3

Profit for 2nd = 100 × 
20

100
 = ` 20

 Difference in profit = 20 – 
50

3
 = ` 

10

3

 
10

3
  35

So, SP for each shopkeeper

= 
35

10

3

 × 100 = ` 1050

18.(B) Required differene

= 3000 × 
20

100
 – 3000 × 

20

120
 = ` 100

19. (C) Let CP of A = x

x × 
115 90

10000 x
100 100

 = 10000

115x 90
x

100 100
= 1000

x = 4000

SP of A = 4000 × 
115

100
 = 4600

20.(D)   By alligation

Sugar-1 Sugar-2

` 20 ` 15

                    ` 18

=  3                :  2

21. (A) CP of mixture = 
68.2

11
×10 = ` 62/kg

By Alligation

Part -1 Part- 2
60 –65
                 62
= 3             : 2

22. (A) CP of Mixture = 
29.9

100
115

 = ` 26/kg

By Alligation
Salt -1 Salt-2
16 28



Mother's Arithmetic • Profit & Loss

77MATHS (SSC, CDS, Railway) "MATHS With PAWAN RAO" 

                    26
= 2                 : 10
= 1                 : 5
So, 1  39.6 kg

 5  39.6 × 5 = 198 kg

23. (A) Let CP of tables = ` x, ` y

 (x+y) = ̀  480

ATQ,

85x

100
 = 

119y

100

 
x 7

y 5

So, x = 
7

480
12

 = ` 280

y = 
5

12
 × 480 = ` 200

24. (A) Let CP of a table = ` x
And CP of a chair = ` y
 6x + 12y = ̀ 12000
 x + 2y = ̀  2000  ........... (i)
And

6x 15

100
 – 

12y 10

100
 = ` 300

 3x – 4y = ` 1000  .......... (ii)
By eq.(i) and eq. (ii)
x = ̀  1000
So, Total Cost of table = ̀  6000

25. (C) Total % profit = 
10

500
 × 100 = 2%

By Alligation
Table Chair
– 10% 10%
                     2%
= 8                 : 12
= 2                 : 3

So, CP of Chair = 
3

5
×500 = ` 300

26. (B) Total % Profit = 
702

5850
 × 100 = 12%

By Alligation
Horses Cows
10% 16%
                  12%
= 4               : 2
= 2               : 1

So, Cost Price of a horse = 
1 2

5 3
×5850 = ̀  780

27. (D) Total % Profit = 
500

10000
 × 100 = 5%

By Alligation

Horses Cows

15% –10%

                     5%

= 15                : 10

= 3                  : 2

So, CP of a horse = 
3

5
 × 10000 ×

1

4
= ̀  1500

CP of each Cow = 
2

5
×10000 × 

1

8
 = ` 500

Required difference = ` 1000

28. (A) By Alligation

Type-1 Type-2

22% 26%

                     23%

= 3                 : 1

Type-1+Type-2 Type-3

23% 30%

                   25%

5                   : 2

So, Type -1     :     Type-2     :      Type-3

       15            :         5          :       8

So, Quentity of Type -1 = 
15

28
×1680 = 900 pens

29. (A) ATQ,

20% = 
1

5
, 10% = 

1

10
, 25% = 

1

4

Let SP of each article = ` 18x

So, CP of first = ̀  15x

CP of Second = ̀  20x

CP of Third = ` 24x

 (15x + 20x + 24x) – 3 × 18x = ̀  60

 5x = ̀  60

 x = ` 12

So, Required CP = 15 × 12 = ̀  180

30. (C) 5C       + 13B = ` 51000

×5000     ×2000

     25000     26000

     15%        15%– 25%



Mother's Arithmetic • Profit & Loss

8Competitive Exams Pdf Notes Previous Years Questions 
"MATHS With PAWAN RAO" Join

     51000 × 
15

100
 = ` 7650

        7650 – 1150 = ` 6500



25% of B

    25% B = 6500

100% B = ̀  26000

  2C + 3B = 2 × 5000 + 3 × 2000 = ̀  16000

31.(A) Let CP of book = ̀  x

and CP of pen = ̀  y

ATQ,

x + y = ̀  20000 ........(1)

13x 9y 9x 13y

100 100 100 100
 = 80

 x – y = ` 2000 ........(2)

By eq. (i) & eq. (ii)

x = ̀  11000

y = ̀  9000


